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1
Wie sind die folgenden volkswirtschaftlichen Grössen in der Schweiz im
Vergleich zur OECD zu beurteilen, und zwar für die Jahre 2004 und 2007
(2007 als Prognose)?

11 Wachstum

12 Inflation

13 Arbeitslosigkeit

2
Welche Massnahmen werden vorgeschlagen, um der aktuellen
Wachstumsschwäche in der Schweiz zu begegnen?

3
In der internationalen Statistik setzt sich die Zahlungsbilanz im wesentlichen
zusammen aus:

• current-account balance

(CH: im wesentlichen Ertragsbilanz)

• capital-account balance

(CH: Kapitalverkehrsbilanz)

Was lässt sich über die Kapitalverkehrsbilanz der Schweiz bzw. der OECD-
Staaten aussagen?

Antworten hier anklicken!
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The Swiss remain a prosperous people, but economic growth has been disappointing for many years. 
Only a mild recovery is in store after the setback in 2005, when GDP rose by little more than 1%. Indeed, 
the economy is stuck in “a low-growth trap”, says the OECD, chiefly because of weak gains in efficiency. 
The main reasons why productivity growth has been so sluggish are a lack of competition in sheltered 
product markets together with a poorly performing public sector. Although Switzerland's record of 
innovation is among the best, it is weaker in smaller firms and is not being helped by low attendance at 
university. The OECD recommends reforms to reduce trade protection and to liberalise the postal services 
and electricity and gas industries. It also calls for more competition in the health system to promote 
greater efficiency.  
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